

A NOTE ON THE PERIODICITY OF ENTIRE FUNCTIONS

KAI LIU[✉] and PEIYONG YU

(Received 12 November 2018; accepted 10 December 2018; first published online 7 February 2019)

Abstract

We give some sufficient conditions for the periodicity of entire functions based on a conjecture of C. C. Yang, using the concepts of value sharing, unique polynomial of entire functions and Picard exceptional value.

2010 *Mathematics subject classification*: primary 30D35.

Keywords and phrases: periodic function, entire function, value sharing.

1. Introduction and main results

We assume that the reader is familiar with elementary Nevanlinna theory [3, 12]. Given a meromorphic function f , the family of all meromorphic functions w satisfying $T(r, w) = o(T(r, f))$, where $r \rightarrow \infty$ outside of a possible exceptional set of finite logarithmic measure, is denoted by $S(f)$. For convenience, we also include all constant functions in $S(f)$.

It is well known that any periodic entire function $f(z)$ with period c can be written as an everywhere convergent series

$$f(z) = \sum_{-\infty}^{+\infty} a_n e^{2i\pi n z/c}.$$

Baker [1] proved that if $f(z)$ is a nonconstant entire function and $p(z)$ is a polynomial with $\deg(p(z)) \geq 3$, then $f(p)$ is not a periodic function. Recently, it has been shown that value sharing can provide sufficient conditions for the periodicity of meromorphic functions. Heittokangas *et al.* [4, Theorem 2] showed that if a finite order transcendental meromorphic function $f(z)$ shares a_1, a_2 CM and a_3 IM with $f(z + c)$, then $f(z)$ is a periodic function, where $a_1, a_2, a_3 \in S(f) \cup \infty$. Obviously, if $f(z)$ is a transcendental entire function with finite order and $f(z)$ and $f(z + c)$ share a_1 CM and a_2 IM, then $f(z)$ is a periodic function, where $a_1, a_2 \in S(f)$. Very recently,

This work was partially supported by the NSFC (No. 11661052), the NSF of Jiangxi (No. 20161BAB211005) and the outstanding youth scientist foundation plan of Jiangxi (No. 20171BCB23003).

© 2019 Australian Mathematical Publishing Association Inc.

related to the periodicity of entire functions, Wang and Hu [8] mentioned the following conjecture given by C. C. Yang.

YANG'S CONJECTURE. Let f be a transcendental entire function and k be a positive integer. If $f f^{(k)}$ is a periodic function, then f is also a periodic function.

We give the following result related to Yang's conjecture.

THEOREM 1.1. *Let f be a transcendental entire function with a nonzero Picard exceptional value and let k be a positive integer. If $f f^{(k)}$ is a periodic function, then f is also a periodic function.*

Wang and Hu [8] also considered Yang's conjecture and obtained the following result.

THEOREM A [8, Theorem 1]. *Let f be a transcendental entire function and k a positive integer. If $(f^2)^{(k)}$ is a periodic function, then f is also a periodic function.*

REMARK 1.2. (i) Theorem A shows that Yang's conjecture is true when $k = 1$. However, f^2 cannot be replaced by f in Theorem A. For example $f(z) = e^z + z$ is not a periodic function, but $f^{(k)}$ is a periodic function.

(ii) The function f^2 can be replaced by f^n in Theorem A provided that $n \geq 3$. In fact, if $(f^n)^{(k)}$ is a periodic function with period c , then

$$f(z+c)^n - f(z)^n = p(z), \quad (1.1)$$

where $p(z)$ is a polynomial with $\deg(p(z)) \leq k - 1$. Equation (1.1) has no nonconstant entire solutions if $p(z) \not\equiv 0$, which is a direct corollary of Yang's result [9, Theorem 1] related to Fermat functional equations: if m, n are positive integers satisfying $m^{-1} + n^{-1} < 1$, then there are no nonconstant entire solutions $f(z)$ and $g(z)$ that satisfy $a(z)f(z)^n + b(z)g(z)^m = 1$, where $a(z), b(z) \in S(f)$. Using Yang's result, we get $p(z) \equiv 0$. Hence $f(z+c) = tf(z)$ and $t^n = 1$, thus $f(z)$ is a periodic function with period nc .

We summarise Theorem A and Remark 1.2(ii) in the following corollary.

COROLLARY 1.3. *Let f be a transcendental entire function, k and n positive integers and $n \geq 2$. If $(f^n)^{(k)}$ is a periodic function, then f is also a periodic function.*

From Theorem A and Remark 1.2(i), we raise the following question.

QUESTION 1.4. Let f be a transcendental entire function and k a positive integer. Let a_1, a_2, \dots, a_n be constants and $a_n \neq 0$. If $(a_n f^n + \dots + a_1 f)^{(k)}$ ($n \geq 2$) is a periodic function, is it true that f is also a periodic function?

The following result gives a partial answer to this question.

THEOREM 1.5. *Let f be a transcendental entire function and k a positive integer. Let a_1 and a_2 be constants and $a_2 \neq 0$. If $(a_2 f^2 + a_1 f)^{(k)}$ is a periodic function, then f is also a periodic function.*

REMARK 1.6. Suppose we replace $a_2f^2 + a_1f$ by $a_n f^n + \dots + a_1f$ in Theorem 1.5, where $a_n \neq 0$ and at least one $a_i \neq 0$ ($i = 1, \dots, n - 1$). We can attempt a similar approach to that in the proof of Theorem 1.5 below, but it seems difficult to obtain expressions for $f(z)$ and $f(z + c)$.

THEOREM 1.7. Let k and n be positive integers with $n \geq 2$. Let f be a transcendental entire function with $\rho_2(f) < 1$ and $N(r, 1/f) = S(r, f)$. If $(a_n f^n + \dots + a_1 f)^{(k)}$ is a periodic function and $a_n \neq 0$, then f is also a periodic function.

The unique polynomial of entire functions (UPE) can also be applied to the periodicity of entire functions. We first recall the definition of UPE [11]. A polynomial $P(z)$ is called UPE if, whenever $P(f) = P(g)$ for two nonconstant entire functions f and g , then $f = g$. Li and Yang [6] gave the following results for meromorphic functions. From the proofs in [6], if f and g are entire functions, then the condition $n > 2m + 2$ ($m \geq 2$) is enough to give the conclusion.

THEOREM B [6, Theorem 1]. Let a_i, b_i ($i = 1, 2$) and c be nonzero meromorphic functions. Suppose m and n with $n > 2m + 2$ ($m \geq 2$) are relatively prime to each other. Then the functional equation

$$f^n + a_1 f^{n-m} + b_1 = c(g^n + a_2 g^{n-m} + b_2)$$

has a pair of admissible entire solutions (f, g) , if and only if $c = b_1/b_2$ and $f = hg$, where h is a meromorphic function satisfying $h^n = c$ and $h^m = a_1/a_2$.

THEOREM C [6, Corollary 1]. Given integers m and n with $n > 2m + 2$ ($m \geq 2$), relatively prime to each other, and rational functions $a_1, a_2, a_3, a_4 \neq 0$, the functional equation

$$f^n + a_1 f^{n-m} + a_2 g^n + a_3 g^{n-m} + a_4 = 0$$

has no transcendental entire solutions f and g .

Combining Theorem B with Theorem C gives the following corollary.

COROLLARY 1.8. Let f be a transcendental entire function, k a positive integer, m and n relatively prime integers with $n > 2m + 2$ ($m \geq 2$) and let a_n, a_1 be nonzero rational functions. If $(a_n f^n + a_1 f^{n-m})^{(k)}$ is a periodic function, then f is also a periodic function.

In addition, Wang and Hu [8, Theorem 2] used the method in [10] to obtain the following theorem as a partial result towards Yang’s conjecture.

THEOREM D. Let n, m, k, p, q be positive integers and f be a transcendental entire function with finite order. If $f^n (f^{(k)})^m$ is a periodic function with period c , f and $f^{(k)}$ have zeros with multiplicities p, q and the multiplicity of the zeros of $f^n (f^{(k)})^m$ is more than np , then f is a periodic function with period $(m + n)c$.

REMARK 1.9. The condition that the multiplicity of the zeros of $f^n(f^{(k)})^m$ is more than np in Theorem D means that f and $f^{(k)}$ have common zeros. We give some further observations on Theorem D. Let $f(z)$ be a transcendental entire function with finite order.

(1) Assume that f and $f^{(k)}$ have no zeros. Then $f^{(k)} = Af$, where A is a nonzero constant. Thus

$$f(z)^n(f^{(k)}(z))^m = f(z+c)^n(f^{(k)}(z+c))^m.$$

We have

$$f(z)^{n+m} = f(z+c)^{n+m},$$

that is $f(z+c) = tf(z)$ and $t^{n+m} = 1$. So $f(z)$ is a periodic function with period $(n+m)c$.

(2) Assume that $f(z)$ has no zeros but $f^{(k)}(z)$ has zeros. Thus $f(z) = e^{p(z)}$, where $p(z)$ is a nonconstant polynomial, so $f^{(k)}(z) = H(z, p(z))e^{p(z)}$, where $H(z, p(z))$ is a differential polynomial in $p(z)$ and $m(r, H) = S(r, f)$. Thus,

$$H(z, p(z))^m e^{(m+n)p(z)} = H(z, p(z+c))^m e^{(m+n)p(z+c)},$$

and hence $p(z)$ must be a linear polynomial, that is $p(z) = Az + B$, where $A \neq 0, B$ are constants. Hence $f(z) = e^{Az+B}$ and so $f(z)$ is a periodic function with period $2k\pi i/A$.

(3) Assume that $f(z)$ has zeros but $f^{(k)}(z)$ has no zeros. In this case, $f(z)$ and $f(z+c)$ share 0 CM. Using the result given by Li and Gao [7, Theorem 1.6], if $f(z)$ is not a periodic function, then $\rho(f) > 1$ and $f(z)$ satisfies one of the following three cases:

- (a) $\rho(f) \leq \lambda(f) + 1$ and $f(z) = P(z)e^{Q(z)}$, where $P(z)$ is an entire function such that $\rho(P) < \lambda(f)$ and $Q(z)$ is a polynomial with $\deg(Q) \leq \rho(P) + 1$.
- (b) $\rho(f) > \lambda(f) + 1$ and $f(z) = P(z)e^{Q(z)}$, where $P(z)$ is an entire function such that $\rho(P) < \lambda(f)$ and $Q(z)$ is a polynomial with $\deg(Q) = \rho(P) \geq 3$.
- (c) $\rho(f) > \lambda(f) + 1$ and $f(z) = e^{Q(z)}$, where $Q(z)$ is a polynomial with $\deg(Q) = 2$.

(4) Assume that $f(z)$ and $f^{(k)}$ have zeros. It is not easy to consider this case from the point of view of value sharing.

Obviously, case (c) in (3) does not occur for the case that $f(z)$ has zeros. However, cases (a) and (b) in (3) and case (4) remain open.

2. Proofs of the theorems

To prove Theorems 1.1 and 1.5, we need the following lemma.

LEMMA 2.1 [12, Theorem 1.56]. *Let $f_j(z)$ ($j = 1, 2, 3$) be meromorphic functions and $f_1(z)$ nonconstant. If*

$$\sum_{j=1}^3 f_j = 1$$

and

$$\sum_{j=1}^3 N\left(r, \frac{1}{f_j}\right) + 2 \sum_{j=1}^3 \bar{N}(r, f_j) < (\lambda + o(1))T(r),$$

where $\lambda < 1$ and $T(r) = \max_{j=1,2,3}\{T(r, f_j)\}$, then $f_2(z) \equiv 1$ or $f_3(z) \equiv 1$.

PROOF OF THEOREM 1.1. Assume that d is the nonzero Picard exceptional value. Then $f(z) = e^{p(z)} + d$, where $p(z)$ is an entire function and $T(r, p(z)) = S(r, f)$. Since $ff^{(k)}$ is a periodic function with period c , we assume that

$$f(z)f^{(k)}(z) = f(z+c)f^{(k)}(z+c).$$

Hence,

$$H(z, p(z))e^{2p(z)} + dH(z, p(z))e^{p(z)} = H(z, p(z+c))e^{2p(z+c)} + dH(z, p(z+c))e^{p(z+c)},$$

where $H(z, p(z))$ is a differential polynomial in $p(z)$. Thus,

$$\frac{H(z, p(z))}{dH(z, p(z+c))}e^{2p(z)-p(z+c)} + \frac{H(z, p(z))}{H(z, p(z+c))}e^{p(z)-p(z+c)} - \frac{1}{d}e^{p(z+c)} = 1.$$

Obviously $-e^{p(z+c)}/d$ is not a constant. From Lemma 2.1, we have two cases.

Case 1: The first possibility is

$$\frac{H(z, p(z))}{dH(z, p(z+c))}e^{2p(z)-p(z+c)} = 1 \quad \text{and} \quad \frac{H(z, p(z))}{H(z, p(z+c))}e^{p(z)-p(z+c)} - \frac{1}{d}e^{p(z+c)} = 0.$$

From this, $e^{p(z)+p(z+c)} = d^2$, therefore, $p(z) = B - p(z+c)$ where B is a constant. Thus, $(H(z, p(z))/dH(z, p(z+c)))e^{3p(z)-B} = 1$, so $T(r, e^{p(z)}) = S(r, e^{p(z)})$, which is impossible.

Case 2: The second possibility is

$$\frac{H(z, p(z))}{H(z, p(z+c))}e^{p(z)-p(z+c)} = 1 \quad \text{and} \quad \frac{H(z, p(z))}{dH(z, p(z+c))}e^{2p(z)-p(z+c)} - \frac{1}{d}e^{p(z+c)} = 0.$$

This gives $e^{p(z)} = e^{p(z+c)}$ and so $f(z) = f(z+c)$. □

PROOF OF THEOREM 1.5. Assume that $(a_2f^2 + a_1f)^{(k)}$ is a periodic function with period c . Thus,

$$(a_2f(z+c)^2 + a_1f(z+c))^{(k)} = (a_2f(z)^2 + a_1f(z))^{(k)}.$$

Furthermore,

$$a_2f(z+c)^2 + a_1f(z+c) = a_2f(z)^2 + a_1f(z) + P(z),$$

where $P(z)$ is a polynomial with $\deg(P(z)) \leq k - 1$. Thus,

$$[f(z+c) - f(z)][a_2f(z+c) + a_2f(z) + a_1] = P(z). \tag{2.1}$$

Case 1: $P(z) \equiv 0$. Either $f(z + c) = f(z)$ which implies that $f(z)$ is a periodic function with period c , or $a_2f(z + c) + a_2f(z) + a_1 = 0$, which implies that $f(z)$ is a periodic function with period $2c$.

Case 2: $P(z) \neq 0$. Since $f(z)$ is an entire function, by (2.1),

$$\begin{cases} f(z + c) - f(z) = P_1(z)e^{Q(z)}, \\ a_2f(z + c) + a_2f(z) + a_1 = P_2(z)e^{-Q(z)}, \end{cases}$$

where $P_1(z)P_2(z) = P(z)$ and $Q(z)$ is an entire function. A computation gives

$$f(z + c) = \frac{P_2(z)e^{-Q(z)} - a_1 + a_2P_1(z)e^{Q(z)}}{2a_2}, \quad f(z) = \frac{P_2(z)e^{-Q(z)} - a_1 - a_2P_1(z)e^{Q(z)}}{2a_2}.$$

Hence,

$$\frac{P_2(z + c)}{P_2(z)} e^{Q(z) - Q(z+c)} - \frac{a_2P_1(z + c)}{P_2(z)} e^{Q(z+c) + Q(z)} - \frac{a_2P_1(z)}{P_2(z)} e^{2Q(z)} = 1.$$

Obviously, $-(a_2P_1(z)/P_2(z))e^{2Q(z)} \neq 1$, since $f(z)$ is a transcendental entire function. From Lemma 2.1, we have to consider two cases.

Case 1: The first possibility is

$$\frac{P_2(z + c)}{P_2(z)} e^{Q(z) - Q(z+c)} \equiv 1 \quad \text{and} \quad -\frac{a_2P_1(z + c)}{P_2(z)} e^{Q(z+c) + Q(z)} - \frac{P_1(z)}{P_2(z)} e^{2Q(z)} \equiv 0.$$

In this case, $P_1(z + c)P_2(z + c) = -P_1(z)P_2(z)$, which implies that $P(z + c) = -P(z)$, a contradiction since $P(z)$ is a polynomial.

Case 2: The second possibility is

$$-\frac{a_2P_1(z + c)}{P_2(z)} e^{Q(z+c) + Q(z)} = 1 \quad \text{and} \quad \frac{P_2(z + c)}{P_2(z)} e^{Q(z) - Q(z+c)} - \frac{P_1(z)}{P_2(z)} e^{2Q(z)} = 0.$$

Here, we also get $P(z + c) = -P(z)$, a contradiction. □

PROOF OF THEOREM 1.7. If $(a_n f^n + \dots + a_1 f)^{(k)}$ is a periodic function with period c , then

$$a_n f(z + c)^n + \dots + a_1 f(z + c) = a_n f(z)^n + \dots + a_1 f + P(z), \tag{2.2}$$

where $P(z)$ is a polynomial with $\deg(P(z)) \leq k - 1$.

Let $f(z + c) = f(z)h(z)$, where $h(z)$ is a meromorphic function. From the difference analogue of the logarithmic derivative lemma for meromorphic functions with hyper-order less than one [2], $m(r, h) = S(r, f)$. Since $N(r, 1/f) = S(r, f)$, it follows that $N(r, h) = S(r, f)$ and $T(r, h) = S(r, f)$. From (2.2),

$$a_n [h(z)^n - 1] f(z)^n + a_{n-1} [h(z)^{n-1} - 1] f(z)^{n-1} + \dots + a_1 [h(z) - 1] f(z) = P(z).$$

We claim that $h(z)$ is a constant and $h^n = 1$. Otherwise, from

$$m\left(r, \frac{h^j - 1}{h^n - 1}\right) = S(r, f)$$

follows $T(r, h) = S(r, f)$ for $j = 1, 2, \dots, n - 1$. By the Clunie lemma [5, Lemma 2.4.2], $m(r, f) = S(r, f)$, which is a contradiction. Thus, $h^n = 1$. Assume the next nonzero coefficient is $a_k \neq 0$. Then $h^k = 1$ and $h^{n-k} = 1$. From this, $f(z + c) = h^{n-k}f(z)$, that is, $f(z)$ is a periodic function with period $(n - k)c$. This proves Theorem 1.7. \square

PROOF OF COROLLARY 1.8. If $(a_n f^n + a_1 f^{n-m})^{(k)}$ is a periodic function with period c , then

$$a_n f^n + a_1 f^{n-m} = a_n f(z + c)^n + a_1 f(z + c)^{n-m} + P(z),$$

where $P(z)$ is a polynomial with $\deg(P(z)) \leq k - 1$.

If $P(z) \neq 0$, then Theorem C implies that there is no entire solution f that satisfies this equation. If $P(z) \equiv 0$, then Theorem B implies that $f(z) = hf(z + c)$, where $h^m = 1$. Thus, $f(z)$ is a periodic function with period mc . \square

Acknowledgement

The authors would like to thank the referee for helpful suggestions and comments.

References

- [1] I. N. Baker, 'On some results of A. Rényi and C. Rényi concerning periodic entire functions', *Acta Sci. Math. (Szeged)* **27** (1966), 197–200.
- [2] R. G. Halburd, R. J. Korhonen and K. Tohge, 'Holomorphic curves with shift-invariant hyperplane preimages', *Trans. Amer. Math. Soc.* **366** (2014), 4267–4298.
- [3] W. K. Hayman, *Meromorphic Functions* (Clarendon Press, Oxford, 1964).
- [4] J. Heittokangas, R. Korhonen, I. Laine, J. Rieppo and J. L. Zhang, 'Value sharing results for shifts of meromorphic functions, and sufficient conditions for periodicity', *J. Math. Anal. Appl.* **355** (2009), 352–363.
- [5] I. Laine, *Nevanlinna Theory and Complex Differential Equations* (Walter de Gruyter, Berlin–New York, 1993).
- [6] P. Li and C. C. Yang, 'Meromorphic solutions of functional equations with nonconstant coefficients', *Proc. Japan Acad. Ser. A* **82**(2) (2006), 183–186.
- [7] S. Li and Z. S. Gao, 'A note on the Brück conjecture', *Arch. Math.* **95** (2010), 257–268.
- [8] Q. Wang and P. C. Hu, 'On zeros and periodicity of entire functions', *Acta Math. Sci.* **38**(2) (2018), 209–214.
- [9] C. C. Yang, 'A generalization of a theorem of P. Montel on entire functions', *Proc. Amer. Math. Soc.* **26** (1970), 332–334.
- [10] C. C. Yang, 'On periodicity of entire functions', *Proc. Amer. Math. Soc.* **43** (1974), 353–356.
- [11] C. C. Yang and X. H. Hua, 'Unique polynomials of entire and meromorphic functions', *Mat. Fiz. Anal. Geom.* **4** (1997), 391–398.
- [12] C. C. Yang and H. X. Yi, *Uniqueness Theory of Meromorphic Functions* (Kluwer, Dordrecht, 2003).

KAI LIU, Department of Mathematics,
Nanchang University, Nanchang, Jiangxi, 330031, PR China
e-mail: liukai418@126.com, liukai@ncu.edu.cn

PEIYONG YU, Department of Mathematics,
Nanchang University, Nanchang, Jiangxi, 330031, PR China
e-mail: [yupei.2000@163.com](mailto:yupe.2000@163.com)